22l ZH MR SHMX (Al9| 2571=)
chel HE, E, %, $/kg
sl 251 20074 2 (d) 20074 28 (FA) SHE(EE SUE(FA) TEEIHEA)
= g = g = g =2 g | 20064 | 2007
1 ol 162,794] 30,497 374,861 70,8320 -20.2 | -20.3 1.5 -0.7 5.18 5.29
2 o|= 134,318 27,829 285,410 58,7908 145 -120] -11.9 -4.7 5.25 4.85
3 H| £ 53,017 7,361 115,582 16,33 1.3| -13.2 10.8 -3.4 6.17 7.08
4 g3 50,790 10,000 114,022 20969 -35[ 11.0 16.3 24.4 5.82 5.44
5 o= 51,940 7,821 102,692 16,65 -3.4| -2.9 -3.4 7.4 6.85 6.16
6 el Alo} 47,255 7,540} 101,713 15,52 -1 4.4 7.3 8.2 6.61 6.55
7 |oteolo|2|E gl 24,921 4,492 54,236 9,55 -9.8] -10.2 6.4 -1.2 5.99 5.68
8 5 19,393 6,259 43,140 12,444 36.3| 60.6 43.9 45.4 3.50 3.47
9 & 7| 18,330 3,792 39,627 7948  7.2] -160 3.3| -16.3 4.04 4.99
10 o|Et2|o} 20,860 3,649 36,113 7,30 76.6[ 19.0 51.4 23.4 4.03 4.94
11 | AbCior2tH|of 14,407 2,409 35,818 6,06 -87] -120 -3.9 -4.7 5.86 5.91
12 de|g 16,662 3,781 35,035 747 18] 155 7.1 3.8 5.24 4.69
13 THE| 22} 14,726 2,259 33,259 50370 -29.2| -35.4] -20.0| -27.9 5.96 6.60
14 ZYA 14,383 2,029 28,237 3,808] 100.4| 131.8 65.4 86.9 8.38 7.42
15 U 7t2tot 17,793 1,482 26,283 2,799 129.0 8.1 113.4 22.6 5.41 9.41
16 g= 12,735 3,739 23,428 6,767 46.7| 435 32.0 26.4 3.31 3.46
17 Bl = 12,131 2,681 23,413 5116 9.4 31.7 1.1 29.4 5.33 4.58
18 s 11,995 2,760 23,383 5511 30.7| -5.1 26.4 -8.8 3.06 4.24
19 2| Alof odt 10,964 3,769 23,164 80770 26.3| 19.4 19.5 30.3 3.13 2.87
20 HAl= 11,251 3,292 21,098 59900 93| 122 -49| -11.2 3.29 3.52
21 ZLriof 8,393 3,952 19,773 8,597 23.0 5.7 52.8 13.2 1.70 2.30
22 A 2l 8,346 2,727 19,313 6,117 -1.3| -27.6 11.4] -10.0 2.55 3.16
23 =2t Al 9,538 1,504 19,088 3,018 -23.9| -22.6 -9.9| -16.8 5.84 6.33
24 cHet 8,890 2,263 19,034 4,708f -15.9] 207 -51| -16.4 3.56 4.04
25 7ttt 7,076 1,821 17,908 4,189 -13.0] -163 0.0 -11.0 3.81 4.28
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29 =7 20074 2 (Ed) 20074 22 (=) SHE(EH) SHE(FA) A ETH
= EAc] = Y = s | 2% | S | 20064 | 20074
1 il 372,026] 56,587 829,931 125,171 50.1 31.2] 32.6| 256 6.28 6.63
2 o|Et2|o} 44,097 1,050 84,905 1,613 9.3| 44.2] 131 48] 48.76 | 52.63
3 e 38,726 4,532 73,619 9,414 | -5.1 -9.8 2.1 5.9 8.11 7.82
4 elc|ok(el = 19,755 6,532 44,833 14,716 | -17.56| -15.4| -2.9| -3.8 3.02 3.05
5 el =L Ao} 19,431 7,170 42,162 15,120 | -16.4| -13.4] -0.3| -1.6 2.75 2.79
6 H| £ & 19,478 5,612 40,940 11,420 | 625| 50.0| 57.6| 57.5 3.58 3.59
7 o|= 16,956 2,10¢| 34,628 4,430 58| 25.6 56| 17.2 8.68 7.82
8 CHet 13,973 6,925 28,866 13,792 | 12.0| 21.7] 24.8| 342 2.25 2.09
9 A 9,108 137 20,175 255 | 12.6| 27.3] 248| 31.3] 83.15 | 79.02
10 Ef = 9,025 2,475 18,209 4556 | -16.0| -1.8] -9.8| -9.9 3.99 4.00
11 7| A 8,901 4,107, 17,566 8,106 | -18.6| -20.0] -13.2| -14.9 2.12 217
12 = 5,524 535) 12,016 1,169 14| -85] 155 4.4 9.30 | 10.28
13 = 5,727 659 11,640 1189 | -7.4| -31.6] -9.9| -41.8 6.32 9.79
14 g2 3,774 174 10,534 318 43| 193 1.8| -17.6] 26.84 | 33.18
15 2AEZ|o} 4,711 1,719 10,245 3,667 | 21.4| 244] 44.7| 458 2.82 2.79
16 2 o| x| o} 2,961 710 7,160 1,712 ]  -4.9| -40.1 9.4 | -22.0 2.98 418
17 E{7| 3,110 205) 6,251 302 | -15.8| 181] -0.4| -4.2| 19.88 | 20.67
18 Hzt= 1,911 140 6,185 383 | 24.3| 59.2] 47.0| 256| 13.82 | 16.17
19 o|okot 2,124 114 5,154 327 | 229.8| 42.8] 293.1| 115.4 8.65 | 15.78
20 ol 2,841 192 5,089 338 | 214.3| 159.6] 182.7| 97.4| 10.52 | 15.07
21 otk 1,813 315 4,133 658 | -33.4| -18.9] -94| -1.3 6.84 6.28
22 A ¢l 1,532 79| 3,670 192 | -41.2| -61.3] 229 -54.2] 11.32 | 19.08
23 AR 2,121 92 3,605 219 | 52.0| -3.7] 28.3| 12.8]| 14.47 | 16.47
24 A& 1,560 21 3,545 46 | -145| -66.6] -2.5| -57.6] 33.42 | 76.93
25 Motze 1,916 200 3,384 346 | -17.1| -27.7] -26.2| -40.0 7.94 9.77




